Supply Contract - 供应合同

No: SC-103911200032

Date: 16/11/2020

This contract executed and entered into this 16th day of November, 2020 Between:

Seller - 卖方

众恒光电

JIANGXI ZHONGGUANG OPTOELECTRONICS TECHNOLOGY CO., LTD. Reference Name - 参考名称: ZHL

Address - 地址: NO.15 OF MOUNTAIN SIDE SECTION, INDUSTRIAL PARK OF YUSHAN COUNTY, SHANGRAO CITY, JIANGXI PROVINCE, CHINA 地址:

Contact Person - 联系人: Sukey Email - 电子邮件: wmb2@zhgdled.com Tel - 电话号码: 0086-13751806749

Bank Account

The following is our USD account: Beneficiary: JIANGXI ZHONGGUANG OPTOELECTRONICS TECHNOLOGY CO.,LTD. Bank Name: YUSHAN COUNTY SUB - BRANCH OF AGRICULTURAL BANK OF CHINA

Bank Address: 55 SANQING AVENUE, YUSHAN COUNTY, SHANGRAO CITY, JIANGXI PROVINCE, CHINA

Account Number: 14364114040000282

Swift Code: ABOCCNBJ140

Buver - 买方



ATC MIDDLE EAST FZCO Reference Name - 参考名称: ATC

Address - 地址: JAFZA One, 11th Floor, Jebel Ali Free Zone, Dubai, UAE

Contact Person - 联系人: Echo Chan Email - 电子邮件: echo.c@atclighting.co Tel - 电话号码: 008615018796671

Supply Contract Summary

Total Amount Total Volume

\$ 53,855 18.36 m³









	买家物品 编号	图片	描述	数量	数量/箱	箱	箱子尺寸	体积	单价·	总体积	总额
#	Buyer Item Number	Photo	Description	QΤΥ	QTY /CTN	CTN	CTN Size (cm)	Volume	Unit Price	Total Volume	Amount
1	AS30153-A (RFE-0273A)	D	Anis - Floodlight 300watt 3000K - CRI 80 23636Lumen - 0.9PF 176 - 265V Rectangular W473 x L335 x H45mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 5040g - Warranty 3years Certified CB	102	3	34.00	L49.3 x W16.7 x H31.4	0.03m³	\$32.13	1.02m³	\$3,277.26
2	AS60154-A (RFE-0272A)		Anis - Floodlight 300watt 6500K - CRI 80 25279Lumen - 0.9PF 176 - 265V Rectangular W473 x L335 x H45mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 5040g - Warranty 3years Certified CB	606	3	202.00	L49.3 x W16.7 x H31.4	0.03m³	\$32.13	6.06m³	\$19,470.78
3	AS30151-A (RFE-0271A)		Anis - Floodlight 200watt 3000K - CRI 80 15778Lumen - 0.9PF 176 - 265V Rectangular W408 x L280 x H40mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 3580g - Warranty 3years Certified CB	100	4	25.00	L43 x W19.3 x H31	0.03m³	\$20.01	0.75m³	\$2,001.00
4	AS30149-A (RFE-0269A)		Anis - Floodlight 150watt 3000K - CRI 80 12249Lumen - 0.9PF 176 - 265V Rectangular W338 x L232 x H38mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 2400g - Warranty 3years Certified CB	102	6	17.00	L36.2 x W31.9 x H26.8	0.03m³	\$15.01	0.51m³	\$1,531.02
5	AS60152-A (RFE-0270A)		Anis - Floodlight 200watt 6500K - CRI 80 17077Lumen - 0.9PF 176 - 265V Rectangular W408 x L280 x H40mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 3580g - Warranty 3years Certified CB	1000	4	250.00	L43 x W19.3 x H31	0.03m³	\$20.01	7.5m³	\$20,010.00
6	AS60150-A (RFE-0268A)		Anis - Floodlight 150watt 6500K - CRI 80 12997Lumen - 0.9PF 176 - 265V Rectangular W338 x L232 x H38mm White / Aluminum (Housing) - transparent / Glass (Front Cover) - 2400g - Warranty 3years Certified CB	504	6	84.00	L36.2 x W31.9 x H26.8	0.03m³	\$15.01	2.52m³	\$7,565.04
Tota	Total Fifty Three Thousand Eight Hundred Fifty Five Only										\$53,855

Terms & Conditions

General

1.

Mold fee 40,000USD for open three set of mold for 150W 200W 300W Flood light Fitting, 60% mold fee should pay as deposit, 40% mold fee should pay when mold been finished and flood light sample confirmed by first parties. The mold fee 40,000USD has already b









een paid on first order of contract No.:ATC-ZHL20190801.

- 2. For the mold fee will be return base on the percentage of order amount each time, when the order amount reach 1,200,000 USD will finish return all the mold fee.
- 3. The mold should open base on the buyer's design, weight different should within 5% as buyer's samples; the fitting can be work for reflector(beam angle 120°) or lens(beam angle 90°); the fitting with spiracle; lens and PCB should put the buyer's logo; the hook should be 340°rotate.
- 4. Transfer and confidentiality: the seller has no right to transfer this contract, the seller and buyer both sides must abide by the contract, shall not be foreign to expose the contract content, such as has occurred, a responsibility shall be investigated for the other party.
- 5. The goods of this contract products is seller produce according to the buyer's brand, the seller shall not be entitled to the finished product sales to a third party without authorization.

Logistic

1. PORT OF LOADING: FCL FOB Shenzhen, for LCL shipment when amount more than 20,000USD seller will send the goods to the ATC company in Foshan, Guzhen and seller will pay the local cost base on CBM.

Technical

- 1. All items should pass CB and IECEE, if can not pass CB and IECEE, Seller should take all the responsibility which cause by this. And Seller will responsible for all the cost which should pay in China for make CB and IECEE, Buyer will responsible for all the cost which should pay in Saudi Arabia for make CB and IECEE.
- 2. KEDI LED, Focus/HC Chip, 1W/PCS, 5.8-6.4V/150MA, SMD2835, CRI>80, DOB driver, PF>0.9, 176-265V 50/60Hz
- 3. Material: Die-casting Aluminum ADC12+Glass Fitting in white color, screw cap should in pink color
- 4. IP65,Beam angle:115°,Working Temperature:-20°C ~ +45°C,Lifespan:30000Hrs
- 5. Power: Stable power less than 10% tolerance
- 6. Color temperature: White 6500K ,Warm white 3000K ;Difference of color temperature for Each batch can not more than 300K with last batch and same batch.
- 7. Seller must make sure the goods matched with Buyer standard, the quality will base on contract and sealed sample.
- 8. For repeat order, Seller can not change any material without Buyer's confirmation. If change, buyer will not pick up the goods and seller must return the full amount deposit.

Delivery & Payment

- 1. Delivery time: 60 days after deposit received (Official holidays are not included)
- 2. Deposit 20% in advance, 80% balance will be paid against B/L.

Production & Packaging

1. Product can not have any seller sinformation or inspect mark or Chinese

Seller Signature & Stamp: 東方 签名和盖章







2. Package requirement based on design file.

Warranty & Inspection

- 1. Product inspection:when Buyer inspect the goods by count/weight/try to assemble/visual appearance/Test by machine and so on. If find any part not meet the contract requirement or have quality problem, seller have to return full amount deposit
- 2. Guarantee 3 years. The defective rate of each order less than 0.4%, buyer will bear the loss; if defective rate exceeding 0.4%, buyer can ask seller return this order amount on next order base on defective items or reproduce the qty base on defective items; if the defective rate more than 8%, seller will send QC to buyer's warehouse to check and bear all the responsibility. Reach 15% defective percentage should stop sell

--- The End ---



